

« زهرالبرسات ریاضی هم ریاضی » « ناخرا » « طلیح ۱۷ »

1- $A(4, -1), B(1, 1)$

$a_{AM} = \frac{1+4}{1-4} = -V \rightarrow m = \frac{1}{V}$ $b = \frac{E}{V}$ (5)

$y = ax + b \rightarrow y = \frac{1}{V}x + b \xrightarrow{(1,1)} 1 = \frac{1}{V} + b \rightarrow y = \frac{1}{V}x + \frac{E}{V}$

2- $A(1, 1), B(-4, 1), C(-1, 3)$

$BC = \sqrt{(-3)^2 + 2^2} = 5$

BC معادله $\rightarrow m = \frac{1-3}{-4+1} = \frac{-2}{-3} = \frac{2}{3} \rightarrow y = \frac{2}{3}x + b \xrightarrow{(-1,3)} 3 = \frac{2}{3}(-1) + b \rightarrow b = \frac{10}{3}$

$\rightarrow y = \frac{2}{3}x + \frac{10}{3}$ $AH = \frac{|1+4-\frac{10}{3}|}{\sqrt{1+\frac{4}{9}}} = \frac{\frac{2}{3}}{\frac{5}{3}} = \frac{2}{5}$

$BC - AH = 5 - \frac{2}{5} = \frac{23}{5}$ (3)

$2y - x = V \rightarrow 4y - 2x = 14$ (3)

$4y = ax + 14 \rightarrow 4y - ax = 14 \rightarrow a = 2$

قطر دایره $\rightarrow \frac{|14-21|}{\sqrt{4+(-2)^2}} = \frac{7}{2\sqrt{5}} = \frac{7\sqrt{5}}{10} = \frac{4}{5}\sqrt{5}$ $r = 14\sqrt{5}$

مساحت دایره $S = \pi r^2 \rightarrow \pi \times (14\sqrt{5})^2 = 141\pi$

فاصله بین دو نقطه $m(\frac{E+1}{1-4}, \frac{3+1}{1-4})$ $m_{AB} = \frac{3-1}{1-4} = \frac{2}{-3} = -\frac{2}{3}$ (5)

$y = 1x + b \xrightarrow{(-1,3)} -3 = -1 + b \rightarrow b = -2$

$y = x - 2$ $m_{AH} = \frac{|1-3+2|}{\sqrt{1}} = \frac{0}{1} = 0$

$m_{AH} = \frac{|1-3+2|}{\sqrt{1}} = \frac{0}{1} = 0$

$(m+1)x - (2m-4)y + 1 = 0 \rightarrow (2m-2)x + (4-m)y - 5 = 0$ (5)

$\frac{-(m+1)}{-(2m-4)} = \frac{-(2m-2)}{4-m} = -1 \rightarrow \frac{-m-1}{-2m+4} = \frac{2-2m}{4-m}$

$2m^2 - 14m + 20 = 3m^2 - m + 2$

$0 = m^2 - 13m + 18 \rightarrow \Delta = 169 - 72 = 97$ هیچ جوابی نداریم

$$\begin{cases} AB \leq x + 2y \leq 3 \\ AC \leq y \leq 2x - 1 \\ BC \leq x + y \leq 4 \end{cases} \xrightarrow{\text{نقاطات } A}$$

$$\begin{cases} 2y \leq 3 - x \\ y \leq 2x - 1 \\ 3 - x \leq x - 2 \end{cases} \rightarrow \begin{cases} y \leq 2x - 1 \\ y \leq -x + 4 \end{cases}$$

$$\begin{cases} x + 2y \leq 3 \\ x + y \leq 4 \end{cases} \xrightarrow{\text{نقاطات } B}$$

$$\begin{cases} x \leq 1, y \leq 1 \\ 2x \leq 0 \rightarrow x \leq 0, y \leq \frac{4}{3} \end{cases}$$

$$A(1, 1) \quad B(0, \frac{4}{3}) \quad C(0, -1)$$

$$m_{BC} = \frac{\frac{4}{3} + 1}{0 - 0} = \frac{1}{0} = -1$$

$$y = -x + b$$

$$AH = \frac{|1 + 1 - 4|}{\sqrt{2}} = \sqrt{2}$$

$$m = \left(\frac{0}{\frac{4}{3}} + 0, \frac{\frac{4}{3} - 1}{\frac{4}{3} - 1} \right) = \left(\frac{1}{\frac{4}{3}}, \frac{1}{\frac{4}{3}} \right)$$

$$Am = \sqrt{\left(1 - \frac{1}{\frac{4}{3}}\right)^2 + \left(1 - \frac{1}{\frac{4}{3}}\right)^2} = \frac{\sqrt{8}}{\frac{4}{3}} = \frac{3\sqrt{2}}{4}$$

$$y = \frac{1}{\frac{4}{3}}x + b \rightarrow x = 0 \rightarrow B \leq b$$

$$\rightarrow y = 0 \rightarrow A \leq 2b$$

$$\text{فاصله } (0, 0) \rightarrow \frac{|0 + 0 - b|}{\frac{\sqrt{2}}{2}} = \sqrt{2} \rightarrow 2|-b| \leq 1 \rightarrow |b| \leq \frac{1}{2}$$

$$A(1, 0) \quad B(0, \frac{4}{3}) \quad AB = \sqrt{1 + \frac{16}{9}} = \frac{5}{3}$$

$$\begin{cases} ①: my - fx = pm \rightarrow y = \frac{f}{m}x + \frac{p}{m} \\ ②: y + mx = x + p \rightarrow y = (1 - m)x + p \end{cases} \rightarrow \begin{cases} x = 0 \\ y = 2 \end{cases}$$

$$y = 0 \rightarrow x = -\frac{1}{m}$$

$$x = 0 \rightarrow y = \frac{p}{1 - m}$$

$$K = \frac{1}{p} \times h \times x \rightarrow \frac{0}{p} \leq \frac{1}{p} \times \frac{p}{1 - m} \left| \frac{m}{1 - m} - \frac{p}{1 - m} \right|$$

$$\left| \frac{m}{1 - m} - \frac{p}{1 - m} \right| \leq \frac{0}{p} \rightarrow \frac{m}{1 - m} - \frac{p}{1 - m} \leq \frac{0}{p} \rightarrow (m - 0)(1 - m) \leq 0$$

$$m^2 - 4m + 4 \leq 0 \rightarrow m \leq 0$$

$$\frac{m}{1 - m} - \frac{p}{1 - m} \leq \frac{0}{p} \rightarrow \frac{m + 0}{1 - m} \leq \frac{p}{1 - m} \rightarrow m + 0 \leq p \rightarrow m \leq p$$

$$m \leq p \quad m \leq -2 + \sqrt{5} \rightarrow p \leq (-2 + \sqrt{5})(-2 + \sqrt{5}) = -4 + 4\sqrt{5} - 5 = -9 + 4\sqrt{5}$$

-9

$$y = 2x - 3 \quad m(2, -2)$$

$$\text{نقطه داده} \rightarrow (2, 1)$$

(5)

$$\frac{x_A' + 2}{2} = 2 \rightarrow x_A' = 2, \quad \frac{y_A' + 1}{2} = -2 \rightarrow y_A' = -5$$

$$d' = y = 2x + b \rightarrow -5 = 4(2) + b \rightarrow y = 2x - 9$$

$$y = x + 2, \quad A(1, 2)$$

(5) - 10

$$m_{AA'} = -1 \quad (1, 2) \rightarrow y = -x + b, \quad 2 = -1 + b \rightarrow b = 3$$

$$\rightarrow y = -x + 3 \quad \begin{cases} y = x + 2 \\ y = -x + 3 \end{cases} \Rightarrow x = -1, y = 1$$

$m(-1, 1)$

$$x_B = \frac{x_A + x_{A'}}{2} \rightarrow -1 = \frac{1 + x_{A'}}{2} \rightarrow x_{A'} = -3$$

$$y_B = \frac{y_A + y_{A'}}{2} \rightarrow 1 = \frac{2 + y_{A'}}{2} \rightarrow y_{A'} = 0$$

$$2b - a = 11 + 3 = 10$$